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T 3T
GENERAL KNOWLEDGE

TR e T ¥ e frw Sreft & fiffa 8 7

(A) TR CEES (C) I (D) ST H | hS &l
In which style are the temples of Bhubaneshwar and Puri built ?
(A) Nagara (B) Dravidian (C) Vesara (D) None of the above

= & e feu w2, fH & u i Afwe (A) U1 G T RO (R) FE TR

HATHHA (A) : TS SIS T3S ﬁ@aﬁmwmmﬁﬁqﬁﬁﬁ%wmﬁ§W|
HROT (R) - TR, ST TR T UT STHIERT IT9ad AT aTel T3S, § ¥ 3 a1 YHd &1 Je9H
YRR e & |

= feu MU e ¥ @ TE W g

®e:

(A) (A) 3T (R) gHT T 8 3R (R), (A) 61 T =& =T &

(B) (A) 3T (R) gHI w 2, W= (R), (A) I T ST TE BT B

(O) (A) & 7, T (R) 38 &

(D) (A) 318 8, W <R>wr%

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Global India Al Summit was recently held at Bharat Mandapam in New Delhi.

Reason (R) : Singapore, Denmark and United States of America are among the highest rated Al and
India’s performance is relatively strong.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (A)is false, but (R) is true

2024 ¥ TH.1.U. G TAITGA HIH-H T3 TaT, Toas i U 6l Tl i ff|r i % foe afeass o
THeATaE Wieh ol Afqd il & ?
(A) TgHHIE (B) fergram (C) SHTERTITIR (D) iehwelt

Which new drug, approved by the FDA in 2024, targets amyloid plaque in the brain to slow the progression
of Alzheimer’s disease ?

(A) Aducanumab (B) Kisunla (C) Lenacapavir (D) Legambi

forg T=T gTRR T it T TSI AIGT-MTAT SRl €Sl fedr ?

(A) I JeH (B) BiETE (C) HEWTSg (D) HET We

Which State Government gave status of ‘Rajya Mata — Gomata’ to indigenous cow ?

(A) Uttar Pradesh (B) Chhattisgarh (C) Maharashtra (D) Madhya Pradesh
e fafoada dftemfig 2024 smenfom i T8

(A) e o (B) deTH | (C) =g (D) @t |

Asian Billiards Championship 2024 was organised in

(A) Riyadh (B) Tehran (C) Mumbai (D) Dhaka
Frafefea & @+ e gar fova o &1 fooar & 2

(A) A=t =t (B) TF WL (C) I TegHn (D) T[hST ST
Who among the following is Youngest World Chess Champion ?

(A) Nancy Tyagi (B) Manu Bhaker (C) Sanjay Malhotra (D) Gukesh Dommaraju
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10.

11.

12.

frfafaa & @ H-81 Wy § wufie 3o g & fafa 78 2 ¢

(A) HTEThI (B) T=&I0T (C) @fecy gften (D) 3Tacreh
Which of the following is not a method of primary data collection in research ?
(A) Interviews (B) Surveys (C) Literature review (D) Observations
Toreror &yt farfer sh1 e fopdt wT ST B 7
(A) ST S B) faferm &€ forerifesn
(C) . FTHET (D) gHTd
Who is considered to be the originator of the project method in teaching ?
(A) John Dewey (B) William Heard Kilpatrick
(C) Prof. Armstrong (D) Socrates
Tfier 3fehel o Tehsenor bl falkmi &
a. g =R fafy
b. ST TeATEe fafy
c. 3TATE &
d. ITgE
A3 fom o faeperdt A & W IR T
(A) %9 b, ¢, d (B) haa a, b, d (C) %ad a, ¢, d (D) e a, b, ¢

Methods of collection of primary data are
a. Case study method
b. Mail questionnaire method
c. Online resources

d. Schedule
Choose the correct answer from the options given below :
(A) Onlyb,c,d (B) Onlya, b, d (C) Onlya,c,d (D) Onlya,b,c

frfafaa § 9 sH-a1 fre § sreuTes gt i fosmar & 8 7

(A) Hea & gur @ foe gaa wfafsean wem e

(B) UTSTshH o 37d | U YeH A o ford st fomam Smam &

(C) BT i 3ehl dTehd 3T HASNNT hl T H Hee Hidl &

(D) Wf¥erehi s U 1 ITTavThal a1t &1 o SR H Flad il o

Which of the following is not a characteristic of formative assessment in teaching ?
(A) Provides ongoing feedback to improve learning

(B) Conducted at the end of a course to assign grades

(C) Helps students to identify their strengths and weakness
(D) Informs instructors about areas needing improvements

ffaiaa o @ HH- g 6 fafa 72 7

(A) TTeifeh (B) UferaTfErs (C) Ta&m D EEESIET
Which of the following is not a method of research ?

(A) Philosophical (B) Historical (C) Survey (D) Observation
frefafaa o @ -3 srnfegs 8w %1 YR T § 7

(A) aroft Heha (B) feftga Twivor

(C) I8 TFIh (D) TURH Treh

Which of the following is not a type of non-verbal communication ?

(A) Voice signal (B) Written communication

(C) Eye contact (D) Tactile contact
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13.

14.

15.

16.

17.

18.

19.

20.

frafefea ® @ form Ta1 3 99 2005 H $-FHhIN 6l I[eamd i ?

(A) 3TE.3718. 8. HHEL (B) sfew et ey W fervarferemer

(C) sTRTETE Teraterne™ (D) feeett fervataame™

Which of the following institutions launched e-Gyankosh in the year 2005 ?

(A) IIT Kanpur (B) Indira Gandhi National Open University
(C) Allahabad University (D) Delhi University

HTESI-eh A5 1 ITANT HId THI, L& S o (70 ST STWIH FT 7 7
A) for forelt Wiy o HeleRTa @ral de U
(B) 3194 HIadM ! The ohid o fore .. TH. 1 ITFT ot
(C) \eft FraT HuTISH e hi
(D) GERI |1 AT Sl TS i
When using public Wi-Fi, what is a recommended practice to enhance security ?
(A) Access sensitive account without any restriction
(B) Use a VPN to encrypt your connection

(C) Disable all security settings
(D) Share your connection with others

Jeateh ° . dud. o A R ?

(A) TIIA T ATh (B) IgT ufectsh Heash
(C) aftusa yrgde Jeah (D) ITTHISE TTgae Aeaeh
What does ‘VPN’ stand for in networking ?
(A) Virtual Private Network (B) Virtual Public Network
(C) Variable Private Network (D) Verified Private Network
WRA H ISl e iR e aiid g3 ?
(A) 1972 (B) 1968 T (C) 1980 (D) 1986 H
When was the Wildlife Protection Act passed in India ?
(A) 1972 (B) 1968 (C) 1980 (D) 1986
frafafea 3 @ SR-H 39 fagsa ye 72 sed @ 7
(A) HTET SEATFAEE  (B) HIET HHIATFEARE  (C) HITA (D) TTEeH ATFETEE
Which of the following gases does not cause greenhouse effect ?
(A) Carbon dioxide (B) Carbon monoxide (C) Methane (D) Nitrous oxide
Wﬁmﬁﬁmmézﬁw&f@amwé % JAfafer
(A) CO,®fEAGSRA  (B) Tdr&d AT ) SAH & (D) Siafafagar ¥ gfg
The increasing abundance of greenhouse gases in the atmosphere has the following possible affects, except
(A) CO, fertilization (B) Global warming (C) Ozone depletion (D) Increase in biodiversity
FrefaRad o | HF-81 T 9Rd 1 HEH TR 8 7
(A) HIEH (B) o=Ts (C) qr=3 (D) SHIUSET
Which one of the following is an artificial port of India ?
(A) Cochin (B) Chennai (C) Mumbai (D) Kandla
T o Tor® T § wed 37freh STerATSE ST IcuTed Bl € 7
(A) TGS (B) HTeh (C) 3feaT (D) BTG
Which State of India is the largest producer of Bauxite ?
(A) Jharkhand (B) Karnataka (C) Odisha (D) Chhattisgarh



21.

22.

23.

24.

Sfid =wg | AT | B aTelt a9t 1 THR FAT 7 7

(A) e (B) W <shaTd™ (C) "It (D) =haT
What is the type of rainfall that occurs in Tamil Nadu during winter season ?

(A) Mountainous (B) Anti cyclonic (C) Convectional (D) Cyclonic
‘SATeH g <t T foRe i ?

REICIREEEIEE (B) TS TH Higd T

(C) T&TH! g T&ard! (D) TEN i <d

Who founded the ‘Atmiya Sabha’ ?

(A) Swami Vivekananda (B) Raja Ram Mohan Roy

(C) Swami Dayananda Saraswati (D) Radha Kant Dev

frfetfga & @ fh0 1938 § YUY =5 1 < TANTIA ¢ o TYETd TRAT USSR HiUH T LA I
™Y

(A) TeAHITE T BEERSINERS (C) Tt 9 (D) Ei. Tsig, 9H1e

Who among the following was elected as President of the Indian National Congress after Subhash Chandra
Bose resigned in 1938 ?

(A) Vallabhbhai Patel (B) Jawaharlal Nehru  (C) Annie Besant (D) Dr. Rajendra Prasad
T — 1B g — 113 T gk B qe i % A R e g § @ wd s g
it - | i
(Srardieh) (SATETe)
a. 9T TR Tt . Ree®d 3Trgrer
b. feha 3Teft Il 1857 fagre
c. TETeT Treft IIl. TEesl 3Teie (1905 | 1907)
d. SETg 2® IV. JTEEAN JTGIeH
T
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
(Originator) (Movement)
a. Bal Gangadhar Tilak [. Khilafat Movement
b. Shaukat Ali II. 1857 Revolt
c. Mahatma Gandhi Ill. Swadeshi Movement (1905 to 1907)
d. Bahadur Shah IV. Non-Cooperation Movement
Code :
a b c d
(A v Il I
B) | 1] v
(C) I v Il
(D) 1 v i I



25.

26.

27.

IS 3TN &% SR H frefafed § @ sR-w wem a2 7
(A) T Tk TRl e & T8 fomfeq =& fomam <1 gepar |
(B) gEehl FrIfeF SerTest g <ht Tt @ |

(C) 35 UH Iufigarl bl 3T BNy i 1 RSN B |
(D) & had AT AT % G FaTierd &I 2 |

Which of the following statements about the Election Commission is true ?
(A) Itis a permanent body that can not be dissolved.

(B) It is appointed by the Prime Minister.

(C) It has the authority to disqualify the candidates.

(D) It only operates during election period.

GO A e 0

(A) HrfuTferent, faenfiept & gfd Saiert @
B) Taenfrent, swrTferst & gt Saiert @
(C) =arrrietent, faenfert % ufd Ioeerh &
(D) HRIITIAHI, =ETicteRT o Uid IR 8

In Parliamentary form of Government

(A) Executive is responsible to legislature
(B) Legislature is responsible to executive
(C) Judiciary is responsible to legislature
(D) Executive is responsible to judiciary

TS % fore Hed o He! U Wreehed @il isq shi ot g 7
a. o
b. TSI 941
c. ST TeAl o HeEl 8
d. Tegufd gr A wewt |
A o o et # F T 3o 9P
(A) e a (B) ot a 3R b
(C) %o d (D) e a, b 3T d
The Estimates Committee is constituted from the members of which House of Parliament ?
a. Lok Sabha
b. Rajya Sabha
c. From members of both Houses

d. From members nominated by the President
Choose the correct answer from the options given below :

(A) Only a (B) Onlyaandb
(C) Onlyd (D) Onlya,bandd



28.

20.

30.

Tt — | Rl T - 11 T gHfera hife qen gie & e fou T g ®§ | wE 3w g
T - |

gt -1l
a. Teq foqy . g deY 3% Je
b. ATHE HTCUH . g TR a1f% AT e
c. ST, Afem| . srfifafasy we Mg Saeute
d. Tufit arfia Iv. TEH 31 ¢ fifted s1fe feqers
®e:
a b c d
(A) Nl i v I
B) | 1% Il I
(O I Il v
(D) | v Il I
Match List — | with List — Il and select the correct answer from the code given below the lists :
List -1 List -1l
a. Adam Smith [. The Wealth of Nations
b. Thomas Malthus II. The Theory of Economic Growth
c. W.A. Lewis Ill.  Imperialism and Unequal Development
d. Samir Amin IV. Essay on the Principles of Population
Code :
a b c d
(A) Nl 1 v I
B) | v Il 11
(O I Il v
(D) | v M I

HedlT S91E 2025 — 26§ fopE UST § “HE@HT SIS’ i Tidd i o1 J&ad fear 7 g ?

(A) g 3T HTR (B) feEr
(C) 3T W& (D) 3Ty Jem
In Union Budget 2025 — 26, ‘Makhana Board’ is proposed to be set up in the State of
(A) Jammu and Kashmir (B) Bihar
(C) Uttar Pradesh (D) Andhra Pradesh
U S 2025 — 26 H HATS T TEH FT €I Hal ¥ T HT S B 7
(A) ITEHRT T (B) S%q T T T
(C) 3™ L (D) hEeHd St
In Union Budget 2025 — 26, the largest source of earning is estimated to come from
(A) Excise Duty (B) Goods and Services Tax
(C) Income Tax (D) Customs Duty
-7-
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31.

32.

33.

34.

= fagm/ ten srsaam
MILITARY SCIENCE/DEFENCE STUDIES

ffafed # @ w-a1 w wsdig wfda 1 3mqd qea T2 R 7

(A) el (B) TR ! Torerl

(C) &7 formaw (D) TR =i 3R wee
Which one of the following is not an intangible element of National Power ?

(A) Leadership (B) Quality of Government

(C) Extent of territory (D) National character and morale
gferie w2resh 8

(A) YT TER &

(B) Ter1 fpamem & @A T qrad

(C) Tt e <t

(D) 3T | ¥ g Tl

Deterrence is a strategy

(A) Of first strike

(B) Exploitation of threat without implementing it
(C) Complete annihilation

(D) None of the above

forem a1 2 fob T Tng auft gfera @ 99 3® Ig A w4 & foiw 31w Ay fadt o6 afetgm s ug,
AT A e R 98 g g 319 f&di i S99 W@ § 98 8l 7

(A) .. urfera (B) W4 3. U

(C) 3.WH. 31 (D) dreet forada

Who said that ‘A nation has security when it does not have to sacrifice its legitimate interests to avoid
war, and is able, if challenged, to maintain them by war’ ?

(A) D.K. Palit (B) John E. Rose

(C) E.M. Earl (D) Walter Lippmann

frforiaa o & H-a1 doa Tt T o gge &= wifera o fomfor 3 syfivent 37t T e B 7

(A) I (B) & T

(C) HETEhITd (D) SThfceh T

Which of the following element does not play a role in building strong military power of a nation ?
(A) Manpower (B) Armed forces

(C) Inflation (D) Natural resources



35.

36.

37.

38.

Frafaied § & s -41 wie] Hifd 3R TS Geaq o sa TFary 1 Te 378 9uiH T 8 ?

(A) 3 o TE ¥ R g

(B) =] it o1 TSI GRam T IS YU &l 9Sdl @

(C) =ty fifr Tt graam ol et Tl Rt @

(D) TFT ST J&-E - 3T TThI TATHAT il &

Which one of the following best describes the relationship between domestic policy and national security ?
(A) They are completely unrelated

(B) Domestic policy has no impact on national security

(C) Domestic policy influences national security decisions
(D) Both are managed by different governmental agencies

1 =1 I T O Safea Hif |

| e

II. e

IIl. S5, 3.3
IV. Euet
e few 70 g # @ T W YR |
%c:
(A) 1,1, 1v, 1 B) LIV, I, (C) 1,1, v, 1 (D) I, 1, 1v
Arrange the following in ascending sequence.

I. NATO

Il. SEATO

. W.T.O.
IV. CENTO
Choose the correct answer from the code given below.
Code :
(A) 1,1 1v, 1 B) I, Iv, 1,1 (C) 1,1, 1v, 1 (D) 1, 1, n, v
=1 § @ ®i-a1 amfes gfeem 1 3 2 7
(A) Tsg 99 (B) foram (C) HTh (D) et
Which is an example of collective defence ?
(A) League of Nations (B) BRICS (C) SAARC (D) NATO
Frferfaa § & siM—a1 g =1 fagra =& 2 7
(A) e (B) WHIEE I R TGHT
(C) &&am (D) TEITcHe HRIATE!
Which one of the following is not a principle of war ?
(A) Surprise (B) Maintenance of morale
(C) Cooperation (D) Defensive action
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39.

40.

a1,

42.

43.

frefefiaa & @ forma foran 2 T, B9 o7 q&ass 8= figgatt & forg =&, sfess amftst & fau
foret 87 7
A) ftwm. fafsa g (B) . wh.H. Fer (C) T.d. 7EgH (D) . g&e

Who among the following has written that “| have authored this book not for military monks, but for the

civilians” ?

(A) B.H. Liddell Hart (B) J.F.C. Fuller (C) A.T. Mahan (D) G. Douhet
“FYg AT 1 Ak ot & 38 fo=mem < wfaures & 9 7

(A) &4 (B) St

(C) €.%. ufeta (D) =T T

“War is a moral scandal of man” who was the proponent of this ideology ?

(A) Rousseau (B) Jomini

(C) D.K. Palit (D) Quincy Wright

“IfFAR AT TS BRA UTTerdl”’ ek Gedeh hl TaAT fohe i ?

(A) A (B) 3= TH

(C) Hrr (D) &I fenfdioTt

Who wrote the book, “Nuclear weapons and foreign policy” ?

(A) Lenin (B) Andre Beaufre

(C) Marx (D) Henry Kissinger

HIfeed & AR T -TT Tl & ‘Auget-fiagia’ ¥ Teca &1 g fohm W o1 2 7

(A) faforfry (8) femfet

(C) ITh—cHR (D) e

According to Kautilya, the centre of gravity in the ‘Mandala Theory’ of inter-state relations pivoted on
(A) Vijigeeshu (B) Mitramitra

(C) Akandasar (D) Udaseen

fifera 3 & e g 1 Torife TR g U g % fowg wed e % w9 § whowfa

fopan @ 7

(A) Herraett (B) fafew =ré

(C) Fectt g (D) Shfeeft

Who among the following defined war as an ‘Organised Violence’ carried on by political units against
each other ?

(A) Machiavelli (B) Liddell Hart

(C) Hedley Bull (D) Jomini

-10- 51



44, Tfafga 4 @ fra foemes & @y @ o= weg o1 8 2

45,

(A) HETeHT et
(C) QU <=5 <

(B) TN T
(D) hifeca

Who among the following thinker is associated with the term ‘Long March’ ?

(A) Mahatma Gandhi
(C) Subhash Chandra Bose

T — | 1 T - 11 < Ty guferd L |

T -1
a. HAUE 31H ¢ U
b. feeta we TSt
c.  UsHeye T
d. Toredt Y TR Ue 1942
i few e e @ wE I g |
e
Ay a=Illl,b=Il,c=1,d=1V
(B) a—IV,b—1,c—ll,d-Il
(C)a-Ill,b=l,c—Il,d=1V
(D) a=1IV,b-1ll,c—1I,d-1l
Match List — I with List — II.
List -1
a. Command of the Air
b. Deterrence and strategy

c. The absolute weapons

d. Victory Through Air Power 1942

(B) Mao-Tse Tung
(D) Kautilya

g -l
. SIS SEt
Il. 35 =T
I, TSl g
IV. Toiasiel g Hoteeh!

List -1l
I. Bernard Brodie
II. Andre Beaufre
lll. Gilio Douhat

IV. Alexander de Severesky

Choose the correct answer from the codes given below.

Codes :

(Aya=Illl,b=Il,c=1,d=1V
(B) a=1IV,b—1l,c—1lll,d-1l
(C)a-Ill,b=lLc=ll,d=IV
(D) a=1IV,b-1ll,c—1I,d-1l

-11-
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46.

47.

AW I — gfeaor ufterga Mo ush WET ITarna e 8 S sigar 8

(A) BF — =9 — R i

(B) ¥F — 3 — WId i

(C) EH — ThUTEIH — R I

(D) YA — UTfehEaT — T <l

International North — South transport corridor is a transport corridor which connects
(A) Russia — China — India

(B) Russia — Iran — India

(C) Russia — Turkmenistan — India

(D) India — Pakistan — Iran

= @ %o & f5d | s 1 rfewem (A) TUT GE T R (R) HET TR |
AUHYA (A) : FAETIHS I T&Id: ToR € 35 8 AL a1 7 | AfG 39 A6 1 Tl 37 Ak T
feran SR A o' were A1sT @ 31fies TR 3R HTae g Bl 2 |

HROT(R) : T fovd g § ST <l &R 1 HROT A1 o 98 3N <Al |ifd T=R T S T |
Hrar feu 0 ke & wE I R |

He

A) (A) 3R (R) SHT TcF & 3T (R), (A) h! T ==& LT 8

B) (A) 3T (R) I T & W ( R) (A) T TET SATET &l T B

(C) A) T 8 g (R) TTeld 8

(D) (A) TTeId & 9 (R) T &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

A) (A)
B) (A)
(
(A)

Assertion (A) : Psychological warfare is fought primarily with the weapon of propaganda. If this weapon
used correct and precise then it proves to be more effective and fatal than armed means.

Reason (R) : The reason for Germany’s defeat in the first World War was that it could not propagate like
the British.

Select the correct answer from the codes given below :

Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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48.

49.

e &t SR sen | safeya fifv |
| Hermaret
II. ST
1. TTeRE
IV. FATAES
= fou T Fe H ¥ wE IW FAT |
e :
(A) 1,1, 1v, 1 B) LIV, I,
(C) 1L LIV, (D) 1, 1L, 1v
Arrange the following steps in ascending sequence.
I. Machiavelli
II. Jomini
. Marx
IV. Clauswitz

Choose the correct answer from the codes given below.

Codes :
(A) L 1,1V, B) I, 1V, 1,11
(C) 1,1, v, 1 (D) 1,11, 1v
T — | ! TR - 11 6 Ty guferd |
et - gt -1l

a. & |. | JdhR

b. BN II. JSET - 1919

c. 3.T%. S 9 1. 3TYcIe] ITHT AT

d. fafes & V. ot 3% TR 9T
= foqu U foehedt § & @& W T |
&R
(A)a=IV,b=lll,c=1Il,d-I B) a=1IV,b=1Il,c=1I,d=1l
©C)a-Ill,b=lLc—-1IV,d-1 (D) a=1Ill,b—1V,c—1I,d-1l
Match List — | with List — II.

List -1 List -1

a. Douhet I. Massive Retaliation

b. Fuller II. Plan-1919

c. J.F. Dulles [ll. Indirect Approach Plan

d. Liddell Hart IV. Theory of Air power
Choose the correct answer from the codes given below.
Codes :
(A)a—IV,b=Ill,c=1Il,d-1I (B) a=1IV,b—Il,c—=1I,d=1l
C)a-Ill,b=lc-1IV,d-1 (D) a=Ill,b—1V,c—1I,d=1l
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50.

51.

52.

53.

= feu T g HAAT § | T I AR (A) TAT GER hl b (R) el T 7 |
MR (A) : WG 1 1S forehed 781 7 | W =8 & S g8 STerafedrd g | Ie9d o |1 i ot <l
FAfd et B; 78 TAR gl T o1 T 31 3 Wi o % forw weeayl # |
Tk (R) : WHITT % o, e sardis 3R foemdia 2 |
wﬁaﬁwﬁ%mﬁﬁmﬁﬁaﬁﬁwﬁﬁﬁwﬁaﬁwwa%
(A) 3T (R) 2FT @& & 3 (R), (A) i TEl =TT B
)3ﬁI<R)aﬂﬁH€r%w<R ), (A) 3! W&l =T T 2
(C) (A) HEl 8 WG (R) TeAd B
(D) (A) TeId & T (R) T& &

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : There is no substitute for strategy. Strategy is what allows us to act with purposes in a
disordered world, it is vital to out thinking and out playing over foes.

Reason (R) : Without strategy, action is random and devoid of direction.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

‘G FHEETeRe’ i foemaw = 4 9 foemg gefRa 2 2

NEEUEEREERCI (B) T fommemn

(C) UsHfaes femmem (D) =TfyhiT femem

The ideology of ‘military Keynesianism’ is related to which one of the following ?
(A) Economic Ideology (B) Strategic Ideology

(C) Political Ideology (D) Nuclear Ideology

TG | “UH s &1 ST shl 37afe om oft ?

What was the period of ‘first five-year defence plan’ in India ?

(A) 1951 — 1956 (B) 1964 — 1969 (C) 1969 — 1974 (D) 1973-1978
SIS e STl H T SThae i a1 i § 7

(A) SIS ST 1 STITCH T el

(B) T h{H A <N h! Frenfirehl 3 fewr gedraia e

(C) BT IUHN sl ANTd HH HLAT

(D) Tershar =1 @y AT we™ & forw

What is the role of defence offsets in international defence contracts ?
(A) To ensure compliance with international law

(B) To transfer technology and investment to the purchasing country
(C) To reduce the cost of military equipment

(D) To increase the seller’s profit margin
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54. I — | I FA — 11 3 A1 GHTAA HIC qe1 i o A= T ¢ Fe § 78 I AT

T - g -1l
a. g 1 fagra . oAt
b. 3TICI ITTHA Il Gl
c. FISAT - 1919 . fafea &
d. FIETfeIsH e ar IV. ehifeed
e :
Aya-1 b=l c-ll d-1V
B)a-1l b=1 c-IV d-ll
(C)ya—-IV b=l c-1. d-I
(D)ya-Il b= c=1 d-1IV
Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List—1I
a. Saptang theory [. Lenin
b. Indirect approach Il. Fuller
c. Plan-1919 lIl. Liddell Hart
d. Socialism and war IV. Kautilya
Codes :
Aa-1 b=l c-lll d-1V
B)a-1l b=1 c—=IV d-ll
(C)ya—=IV b=l c-1 d-I
(D)ya—1Il b= c=1 d-=1IV

55. oY gEYE | wfed 19T free o6 wmefies &t we g
(A) WER el eti & = SR vy wifud s
(B) Fgforr wwiat <l Frmet s 3fit feoran s v
(C) I&Ta TSl W 3ATMeh Ufcrarer e
(D) wIfea Aqe & ot ERAET o AR I faursHes s=MET
What is the primary function of peace keeping missions in conflict resolution ?
(A) Establishing trade relations between conflicting parties
(B) Monitoring ceasefire agreements and maintaining stability
(C) Imposing economic sanctions on belligerent nations

(D) Facilitating arms trade to balance of power

M -15-
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56.

57.

58.

59.

60.

UeTm B g FER 31T ¢ g fid’ S T Har 2 ?

(A) Toga s o=

(B) fava =R Hea

(C) IS s

(D) 3Wad | & hIg A&l

Who releases the ‘Readiness for the future of the production report’ ?
(A) World Economic Forum

(B) World Trade Organisation

(C) World Bank

(D) None of the above

g LT TRGH T Jawe fobe 9 el T feft shear @ 2

(A) TR, 3T wifed 3R e

(B) TS, HTHTISI a3 Tl

(C) T, HerdT 3T JuTe

(D) ST | H hIE &l

Management of cyber security risks depends on which three factors ?
(A) Threat, economic power and impact

(B) Impact, social power and threat

(C) Threat, a vulnerabilities and impact

(D) None of the above

Gag ¥ g1 § R HTAaTel! STRRA-SMH - 31TehTe firmsa o v Tmeq g waesft &9 & feamea 3k
foenfaa fopam w7

(A) 381 (B) t.3T.Eh.31.

(C) d1&|n (D) STt

‘Iron-Dome’— Akash surface to Air missile was indigenously designed and developed by which
organisation ?

(A) ISRO (B) DRDO
(C) NASA (D) JAXA

frfafaa § @ #9-a1 9ra &1 yom TiEhe fewe g 7

(A) ST (B) H=tH (C) s=|q (D) eI
Which of the following is India’s first nuclear reactor ?

(A) Zerlina (B) Cirus (C) Apsara (D) Damini

WA § 3A=NeT AN <hl TATIHT e hl Wit 7

When was the Space Commission established in India ?
(A) 1962 (B) 1969 (C) 1972 (D) 1975

-16- 51



61.

62.

63.

=1 =1 U weshd § Safed Hif

|. GASTHT HTSHHTT

II. TIAT AT gHAT

lll. TSRS FHAT

IV. AR 8g W A
= feu Mo e # @ T IW T
%e:
(A) LIV, I (B) I, 1v, 1,1
(C) 1,1 v, 1 (D) 1,1, 1,1V
Arrange the following in descending time line :

I. Pulwama Attack

II. Raghunath Mandir Attack

[ll. Pathankot Attack

IV. Indian Parliament Attack

Choose the correct answer from the codes given below :

Codes :
(A) L 1,1V, B) I, 1V, 1,11
(C) 1L N v, | (D) 1, 10,1, v

T TR 7 T9 2016 H IS Fefte e STt foram ol 38 feha gl <hl HIEHTSTT = Wit
foram o 7

The Government of India organised the International Fleet Review in the year 2016. How many country’s
navies participated in it ?
(A) 40 (B) 50 (C) 70 (D) 30

g HepuTe g @ T At 317 fSwhIg’ o i@ HH & 7

(A) S gerefi T8 germ

(B) T.UH. cetell

(C) e faftm fam T

(D) S . 3. Tz

Who is the author of the book, ‘The McMahon Line : A century of discard’ ?
(A) General Dalbir Singh Suhag

(B) A. S. Dalvi

(C) General Vipin Singh Rawat

(D) General J. J. Singh
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64. = feu T T el § U I AMMHA (A) 3R G FI d (R) FHF TR |
FAfReA (A) @ 9RA 1 T 5 Aifd 2014 H AR & |

ek (R) : YIRA & JaR U3l o foehrd o foTu sivemest = @mer Seat g STaws § |
ST T % 3MTelreh | Frefafaa fasedt § & waifies Sugd I 9 |

(A) (A) 3R (R) QT @& & 3R (R), (A) i 2 =T 2

(B) (A) 3 (R) GFI WEl € T (R), (A) 1 Tl =amen 7 2

65.

(C) (A) §& 2, T (R) Tod &
(D) (A) Ted & T (R) 9& &

Given below are two statements one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : India’s Act East Policy launched in 2014.

Reason (R) : The relation between India and Bangladesh should be better for the development of North

Eastern States.

In the light of the above choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(C) (A) is correct but (R) is not correct

(D) (A) is not correct but (R) is correct

TFITA TIIUE UISHYH AT forad Trafd 8 7
(A) YRd - RMR

(B) YR - ==

(C) YA - UTfehEdT™

(D) YRA - A

Actual ground position line is related to

(A) India — Myanmar

(B) India — China

(C) India — Pakistan

(D) India — Afghanistan
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66.

67.

68.

ety & I 2

(A) feme weTETT H wHfeeh

(B) =T |13 1 &= 31eTE gt & |

(C) WRA 3R <A % 9=4 & gugiar

(D) 3RS ITR H HYET 3ohl Sl FARG st Sl T At A6 Ao
‘Poorvi Prahar’ denotes

(A) A maritime exercise conducted in Indian ocean

(B) A Tri-service military exercise in Eastern theatre

(C) A defence agreement between India and China

(D) A naval mission to monitor piracy in Arabian sea

T h I G -TFH Al b Tl WE hT A 39T FIT AT § 7

(A) T T T < forg

(B) W weeH we wirfr e

(C) Jf3T&IuT 3TE TeTe o oIy

(D) fofert & e o sem & fog

What is the primary purpose of ‘Flag March’ by the para-military forces within country ?
(A) To promote tourism

(B) To display strength and ensure peace

(C) To conduct training exercises

(D) To promote tension among adversaries

frTferd § & -T1 T WA % Y TR o Y -HET AT HA | 7

(A) STeATCT

BRUEZSIE]

(C) =

(D) ST H & HIg &

Which one of the following country shares the longest land border with India ?
(A) Bangladesh

(B) Pakistan

(C) China

(D) None of the above
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69. H — I G — 11 Ty gHfera i qen et & = for U e & @@ W g

g - | g -1l

a. JTNIE Heked . 1965
b. JTRYA Jvg A Il. 1971
C. TATEAT ShHe Il. 1988
d. 3T fae IV. 1999
%<

(Aya—IV b=l c—1 d-ll

B)a—1 b-Ill c=Il d—1IV

(C)a=Il b=1 c—1l d=IV

D)a-Il b=1Il c=IV d-1I

Match List — | with List — Il and select the correct answer from the codes given below the lists :
List -1 List -1l

a. Operation cactus I. 1965
b. Operation grand slam I. 1971
c. Lightening campaign . 1988
d. Operation Vijay IV. 1999

Codes :

(A)a=IV b=Il c-1 d-ll

B)a-1 b=l c-1I d-1IV

C)a-l b=1I c=1 d=1IV

(D)a-=Il b=l c=IV d-I

70. TrTieRd H ¥ ToRY WRA % WM ATl % ST oh ®9 § HeMd FhIT AT & 7
(A) Hifeed
(B) J.Td. TEE
(C) FouTTEaTHT Gormuars
(D) IFSfa STl
Which one of the following is referred as a ‘Doyen’ of India’s strategic affairs ?
(A) Kautilya
(B) J.L. Nehru
(C) Krishnaswamy Subrahmanyam
(D) Ajit Doval
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71.

72.

73.

freferfiaa § & o 30 9 TSR fo 2 B, o 1 g 1 SR e A 2, 9o o i i

T BT 8 3TN d 1 3T S T R 7

(A) g = (B) Teetl foerea
(C) Tsh HTSTHT (D) G¥HT TS
Which one of the following emphasize that, “India not to look east, but to engage east and act east” ?
(A) Narendra Modi (B) Hillary Clinton
(C) Barak Obama (D) Sushma Swaraj
e &t SR en | safeya fifv |

1. srorsr firsm

Il 3w, difera

1. frersTeRt B

IV. TH.%. TRREUH
i e T e # @ HE I R |
Fe

(A) 1, 11, 1V, 1l (B) 1, IV, 1L, Ii
(©) I, 1, 1V, | (D) I, 11, 11, IV

Arrange the following in ascending sequence.
I. Brajesh Misra

II. J. N. Dixit

[ll. Shivshankar Menon

IV. M. K. Narayanan

Choose the correct answer from the codes given below.

Codes :
(A) L 1,1V, 1 B) I, 1V, 1,11
(C) I, 1, Iv, 1 (D) I, 1, 1, v

TN <hl T s&¢ Aifa o= 9 9 form oY =qeq 1 w=ft 2

In which year India’s Act East Policy formally articulated ?

(A) 2005 (B) 2014 (C) 2016
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74.

75.

et S reTsRe o eafeda Sife |
|. TRHTY] Gad g ad 9 |
II. 3T adieror afdera @i |
III. STeT 3T=aRe | |
V. TRETY] STHER | |
= fow e e ¥ @ wE s g |
T
(A) L1V, I (B) I, 1v, 1,1 (C) 1,1V, 1
Arrange the following in ascending time line.
I. Nuclear Free Sea Bed Treaty.
II. Partial Test Ban Treaty.
[ll. Outer Space Treaty.
IV. Nuclear Non-Proliferation Treaty.
Choose the correct answer from the codes given below.
Codes :
(A) LIV, I (B) I, 1v, 1,1 (C) 1,1V, 1

AR 91 BT T SUSOMKI B |

a. € 9 aTell Hedlid Jgeh T |

b. I§ 8000 TeRUT oot =T &l IreT Aft @1 Tehal ® |
c. 3Tt 3Tfereran Tfa 2500 feret fa Tver 7 |

d. 3Tt SAfereRay fd 2000 fordt wfe =ver 2 |

= feu mu foshedt § @ Tl S g |
(A) I a, b, ¢ (B) e a, b, d
(C) %o b, ¢, d (D) ed a, ¢, d

Indian Air Force SU30MKI is
a. Twin Engine Multirole Combat Aircraft.
b. It can carry external ammunition weighing 8000 kg.
c. lts maximum speed is 2500 km/hour.

d. Its maximum speed is 2000 km/hour.

Choose the correct answer from the options given below.

(A) Onlya, b, c (B) Onlya, b,d
(C) Only b, ¢, d (D) Only a, c, d

-22-
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76. =l fou T S el § | T B TMHAA (A) 3T R HI T (R) FE T2
HATHER (A) : T o FRFT % TR T A G0N hl Icq(l b TIH W & SEHT § Tl ST Fhell 2 |
Tk (R) : &I TgWhi <l Icuftl 1 ¥ HiZad 781 &, Il Fguul & Ush TMT HfTehel &l ST 2 |
IRjF FoA F el § Frfefad feed § @ i ST IR 9 |
(A) (A) 3 (R) T T & 3T (R), (A) 1 Wl = &
(B) (A) 3T (R) QT Wl & g (R), (A) 1 Wl =ame T 2
(C) (A) TR &, TG (R) TTeid 2
(D) (A) 7T 7, W (R) W 2
Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Water pollution can be easily prevented at the place of its origin based on laws and
regulations.
Reason (R) : Where the place of origin of pollution is not certain, it becomes difficult to prevent water
pollution.
In the light of the above statements, choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct

77. WM 9 § JAUCH 39 TR Ffihd i ST TRl &
(A) STehfreh TR T
(B) Wi I HIaHd
(C) THaHA 3R SRR
(D) ST H & hIg T
Disasters may primarily be categorised as
(A) Natural and Poverty
(B) Natural and Man-made
(C) Man-made and Industrialisation

(D) None of the above
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78. Torm ufifeufeat o wgera Tsg I1eT 1 “‘I=Be-42’ A= FEALT I FIAT TgH T B 7
(A) e JTehfdeh STTET 3 GRH
(B) & =TS IMTfed T F&AT bl @all &

(C) ST« TSl I SAT=d1eh TS | &= T <ht | <hi T &
(D) T snfer zermomn st o

In which situation does ‘Article-42’ of the United Nations Charter allow for military intervention ?

79.

(A) Only during natural disasters

(B) When there is a threat to international peace and security

(C) When countries requested military help for internal conflict

(D) During regular peace keeping operations

T — | T F - 11 T gaford hife qen gieei o e fou Te e 3 w@ S g |

g -1
a. ATfoeTe Tt
b. TIETRT TEHH
c. gt TRrer awe
11 1 5

d
He

(A) a-1IV b1l
B) a-1 b1l
(C) a-1IV b1l
(D) a—II b—IV

c—1l
c— 1l

c—1

g -l
. 1992
IIl. 1997
Il 1994
IV. 1987

d-1l
d-1v
d-|
d-1

Match List — | with List — Il and select the correct answer from the codes given below the lists.

List -1

Montreal Protocol
Lusaka Conference
Earth Summit

o o o

d. Kyoto Treaty

Codes :

(A) a-1V b1l
(B) a—1 b—Il
(C) a-1IV b -1l
(D) a-1l b-IV

c—Il

c—Il

List -1l
l. 1992
Il. 1997
Il. 1994
V. 1987

d-1l
d-1Vv
d-|
d-11
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80.

81.

82.

83.

T 2013 ° ITU@E § A 91¢ o H AR a1 841 gHT =il T sr=re 310 o6t @ fea
T AT 7

(A) ITTRIA TR (B) JATRIM T&d

(C) AT Teg (D) AT T

What name was given to the rescue operation conducted by the Indian Air Force during the flood in
Uttarakhand in 2013 ?

(A) Operation Suryahope (B) Operation Rahat

(C) Operation Madad (D) Operation Ganga
frefefaa & @ wH-a1 52 o 1 fgdfiass g 8 2

L EEIR SR (B) g T Tl

() gmdt (D) ¥epeefiar

Which one of the following is a secondary effect of a major earthquake ?

(A) Ground shaking (B) Surface rupture

(C) Tsunami (D) Seismic waves

‘STl o ToTT TRwTo] SheishH oh! HFd TSg WETEHT | fehdeh grT Seattad fopam 7
(A) St TSR (B) SRSl NEE

(C) Ffehet ge=a (D) =TS-TA-<8

The ‘Atom for Peace’ programme was introduced in the U.N. General Assembly
(A) D. Eisenhower (B) Jawaharlal Nehru

(C) Nikita Khruschev (D) Chao-en-Lai

= feu T < AT H A U i MR (A) 3 G H dh (R) HET TR

arfreRe (A) : If=T STEa™ fEar 3T wod o s grary SR i 6 e Bl 8 |

ek (R) : S~ STTHAH 1 S0 g 3R IMI= hl THRATT T HTHTITR SFTh G AL i b T
B3R |

ST HUAT & 3MTeeh § Fferiad foshedi § & @& SR 4 |

(A) (A) 3 (R) EHI W& & 31 (R), (A) Sl TEl =mea 2

(B) (A) 3T (R) GH1 TEl &, T (R), (A) I Wl =amen & 2

(C) (A) & B, T (R) Ted &

(D) (A)TTerd B, g (R) HEl B

Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).
Assertion (A) : Peace research seeks to establish connection between violence and conflict.
Reason (R) : Peace research arose from effort to apply social scientific theory to the problems of war
and peace.

In the light of the above statements choose the correct answer from the options given below.

(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct
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84.

85.

G TS M~ TR0 AT o gy o “Eh.Eh.3R.’ wreg o1 7 374 7 7

(A) Temamite, ferfaamsym we Rufeem

(B) T, Sauwe we et

(C) fevmeet, Saeture wre fRfafee

(D) ferarmuet, fershet woe fgfaferesm

What does the term ‘DDR’ stand for in the context of United Nations Peace Keeping Operations ?
(A) Disarmament, Demobilization and Reintegration

(B) Defence, Development and Recovery

(C) Disaster, Development and Resilience

(D) Diplomacy, Democracy and Rehabilitation

Tt — | I G - 11 A1 gHfTd hifee g et o = feu MU e & T IR g

T - g -1l
(1) (TSTUTRE )
a. ﬁTF[ l. @'ﬁ@ﬁﬂ\?ﬂ
b. FSRIZA Il. I TH. 9T,
c. SITSfiet Il. hIeiE -15
d. 3T \AR: 1o
He

(Aya-1Ill b=1 c=1l d=1IV
B)a-Il b-1 c—Il d=IV
(C)a—IVb—1Il c—Ill d—1
D)a-Il b=IVc—1 d-1I

Match List — | with List — Il and select the correct answer from the codes given below the lists.

List -1 List -1l
(Country) (Missiles)
a. Iran I. Davids Sling
b. Israel Il. Fog M.P.M.
c. Brazil [ll. Khordad —15
d. Argentina IV. Mathogo
Codes :

(Aya-1ll b=1 c—Il d=1IV
B)a-Il b—1 c—Ill d=1IV
(C)a—-IVb-1l c—1IIl d—1
D)a-1l b—IVc—1 d-li
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86.

87.

88.

89.

90.

SRRt 9 TG g1 8 I G W hd gEarer foram mam ¢

(A) 5 ®E, 2011 (B) Qﬁﬂ'ﬂér{, 2009
(C) 8 3T, 2010 (D) 227, 2002
When was the ‘New START Treaty’ signed by the America and Russia ?
(A) February 5, 2011 (B) December 9, 2009
(C) April 8,2010 (D) May 22, 2002

FTAUSEI 26 SR wf~y fopd o & AT 88 @ 7

In which year the International Arms Trade Treaty came into force ?

(A) 2014 (B) 2016 (C) 2000 (D) 2020
SIHET HIERhia — 1925 WTfies d W frefafad # & feraeh s 61 gg | wioaf~oa sar g 7
(A) STES (B) T BRER 9 9

(C) TETfsh T Sk Bl (D) ST&S Al

The Geneva Protocol — 1925 primarily prohibits the use of which of the following in war ?

(A) Gunpowder (B) Chemical weapons and gases

(C) Chemical and biological weapons (D) Land mines

IR 3 AR BRI & qderer W ufqery @ & fofe Tmeid g vee SdTd e W@ 7

When did India made the first proposal calling for an agreement to ban nuclear weapons test ?
(A) 1950 (B) 1954 (C) 1963 (D) 1978
e few Tu g1 el § @ weh i SRR (A) 3T TEL I deh (R) el TR |
AfieRem (A) : FerEfishor & ared AW W = srm @ g R |
Tk (R) : STafer & =01 Sl <6 Sig 9 o o 8 |
W%ﬁ%mﬁﬁmﬁ%ﬁﬁwﬁﬁﬁﬂﬁwgﬁl
A) 3R (R) GHT &l & 3 (R), (A) I FEl =me 2

(A)aﬁumaﬁuﬁ% g R) (A) I HE =T T @
(C)( ) T &, 9 (R) T @
(D) (A)TIeTd B, T (R) HEl &

Given below are two statements, one is labeled as Assertion (A) and other is labeled as Reason (R).

Assertion (A) : Disarmament means maintaining control of weapons.

Reason (R) : Whereas arms control curbs the arms race.

In the light of the above statements choose the correct answer from the options given below.
(A) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)

(C) (A) is correct, but (R) is not correct

(D) (A) is not correct, but (R) is correct
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91.

92.

93.

94.

T — 101 = — 11 |1 gafera hife qun gl o e fo e e § w9 S g |
I

el - et -1l
a. I98 AR |. STt 3TH
b. H&HefA T II. eTferaes T
c. W & TEHA 1. STeeT 3
d. BIESH IV. S8 i
%c:
(A) a—1I b—1ll c—|l d-1v
B) a—1i b-1 c—|l d-1v
(C) a=1IVv b—1ll c—Il d—|
(D) a-1l b-1 c—1IVv d-1l
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -1l
a. Grenade Launcher [. Small Arms
b. Submachine Gun Il. Toxic Gas
c. Anti Tank Rifle Ill. Shoulder Arms
d. Phosgene IV. Light Weapon
Codes :
(A) a—1I b—1ll c—|l d-1v
B) a—1i b-1 c—|l d-1v
(C) a=1IVv b—1ll c—Il d—|
(D) a-1l b-1 c—1IVv d-1l
forea @ e g1 HEEER FH-A1 R 7
(A) SRIT= HEETR (B) 3ACHATUCH HEHNR
(C) Temg @R (D) 3Tehicsh HETHTR
Which is the Third Largest Ocean in the World ?
(A) Pacific Ocean (B) Atlantic Ocean
(C) Indian Ocean (D) Arctic Ocean

F=ausd fafy & “sromeff’ sreg 3fd=ies €9 A s uftnfyd femam mm 2
When was the term ‘Refugee’ formally defined under international law ?
(A) 1919 (B) 1945 (C) 1951 (D) 2011

Tefue ITeier 1 ITEfTeRar W freifed feoaft fhe < 7 2

“gfe wA.w.wH. AUTERTE ], O F1 TS TETR B ? I STHEMEAE A FTH @ g 7
(A) YT T T (B) 3Tea fagrt areft

(C) e &= (D) o8 HUSaT

Who has made the following comment on the relevance of Non-Alignment ?

“If NAM is irrelevant, is NATO relevant ? What it is doing in Afganistan ?”

(A) Bhawani Sen Gupta (B) Atal Bihari Vajpayee

(C) Natwar Singh (D) Nelson Mandela
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95.

96.

97.

form sr=aisda @fr 1 3evg SATdewdTe & fod Two B Uk I cEMT B 2

(A) TSt sz

G ERIERIHEIS]

(C) JATdehdTE o TorRTaTUT o o o foTu Straiisd avie

(D) HH g T

Which international treaty aims to prevent and suppress the financing of terrorism ?
(A) The Geneva Conventions

(B) The Kyoto Protocol

(C) The international convention for the suppression of the financing of terrorism
(D) The United Nations Charter

Freaferfea & @ fraa wvar o T, “foorft Argr veet Sfad €, 3R o 3¢ ® a €, Safes wufsa g
g Ig H 1d & 3 R S it wifsrer sed 27 2
(A) TS, (B) S (C) whifecH (D) T3

Who amongst the following stated that, “Victorious warriors win first and then go to war, while defeated
warriors go to war and then seeks to win” ?

(A) Sun Tzu (B) Jomini (C) Kautilya (D) Mao
T — 1 g — 1% T g B qe g % A R T e @ ad 3w gh |
g -1 g -1l
a. s A=A |. YR — et
b. TU AT II. SSRTSe — Ffen
c. 38 WIet AATEA lIl. 3RIEA — AT
d. U T IV. IR SHIfET — gfeqor =hifen
&
(A) a-=1Ill b-1 c—-1IvV d-I
(B)a—II b-IV c-I d-1i
(C) a b-1 c—1ll d-1l
(D) a b-1ll c-Il d—-1v
Match List — | with List — Il and select the correct answer from the codes given below the lists.
List -1 List -l
a. Blue Line I. India — Sri Lanka
b. Purple Line . Israel — Syria
c. 38 Parallel Line lll. Israel — Lebanon
d. Palk Strait IV. North Korea — South Korea
Codes
(A) a=1Ill b-1 c—-1IvV d-I
B) a=I b-IV c-I d-1
(C) a-IV b-1I c—1l d—1i
(D) a-1 b-1ll c-1 d-1v

-29- 51



98.

99.

100.

frfefaa # & wi-31 fag TEEIR 1 3TecAlch HEETR &I Jedl 8 ?
INESEEL

(B) 1 3% g &

(C) TAFhT TASHEHE

(D) STHIFd § | hig el

Which of the following connects the Indian Ocean to the Atlantic Ocean ?
(A) Suez Canal

(B) Cape of Good Hope

(C) Malacca Strait

(D) None of the above

foret w1 2 o6, et 3w o o i 3% piver g Frerif S 27 7

(A) T A 7EH (B) fafea &

(C) & (D) IR SATTe

Who said that, “The Foreign Policy of a country is determined by its geography” ?
(A) A. T. Mahan (B) Liddell Hart

(C) Douhet (D) Napoleon Bonaparte
“foreaTita Was’ < Tgresit foreeh g wfeatfed <t meft off ?

(A) = TRT

B) &t. wa. fafsa ard

(C) 3. Th. Hl. Fer

(D) AT gge

Who propounded the strategy of ‘Expanding Torrent’ ?
(A) Che-Guevara

(B) B. H. Liddell Hart

(C) J. F. C. Fuller

(D) Giulio Douhet
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